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���
����
) ��������������
�  (�)    �
�	��� (�)   ���	����� 

(�)  ����	�� ��  
��!"�����
����� (	
��) ���������
��#��� (�, �, �)  �
�	
��
��� $�%�&�� '�	
(��	�� ST30 ���&
�%������ $&��$
���% 
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��' �.2  ����������� (	
���
����
) ��������������
�  (�)    �
�	��� (�)   ���	����� 

(�)  ����	�� ��  
��!"�����
����� (	
��) ���������
��#��� (�, �, �)  �
�	
��
��� $�%�&�� '�	
(��	�� S24 ���&
�%������ $&��$
���% 
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���
����
) ��������������
�  (�)    �
�	��� (�)   ���	����� 

(�)  ����	�� ��  
��!"�����
����� (	
��) ���������
��#��� (�, �, �)  �
�	
��
��� $�%�&�� '�	
(��	�� S24B30 ���&
�%������ $&��$
���% 
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���
����
) ��������������
�  (�)    �
�	��� (�)   ���	����� 

(�)  ����	�� ��  
��!"�����
����� (	
��) ���������
��#��� (�, �, �)  �
�	
��
��� $�%�&�� '�	
(��	�� B30x2 ���&
�%������ $&��$
���% 



������� 
 

���	��& ���������
�� 	
��
�� 

 

 

1. ���	��& ���������
�� �!�"�#	
��
�� 

        �����)����� $�%�&���������	������$'#���)����� $�%�&�� 30 	
�� �
�����	���� 100 

��������
 �������	����*���)������������)����� $�%�&���� + +,�-�
�*�������)����	�
���
��������
���	 30 ���� *�	������� +	
�����$.�����%������	�� 3 #���  +
�%
���%����
�+/�	
��
��'&� �� 6.5 ���$��
����$�0������$� 1�
�	 ��2 ����������� 10 ����
2 
����
������3��������$���� �� (total soluble solid, TSS) *� ��
���%+
���( 17 ��4�-
%
�	�2 ��� +�	3%
�	5� �������(&6���  - 20 ��4�������$� 

2. ���	��& ��������$���
�� ��	
��
�� 

        �����)����� $���������	����'����
��
�� 1:1 (����
�+
����
) �������	����*���)��
����������)����� $���� + +,�-�
�*�������)����	�
�����������
���	 30 ���� +
�% TSS '&�
 �� 17 ��4�%
�	�2 &�	$�� �
 ���
����	�
��'&����
��&$�����
�*� ���
� TSS ���
���%���
����	�
  ��� +	
�����$.�����%������	�� 3 #��� +
�%
���%�����+/�	
��
��'&� �� 6.5 

���$�0������$� 1�
�	 ��2 ����������� 10 ����
2   ��� +�	3%
�	5� �������(&6��� -20 

��4�������$�



������� � 

��%&���(��	�)��$����*�& +��� ,�#�������(��	�)�� 

 

1. ��������������
)����	��&
)��������+	
(2���������
��6���7
��#)��*�����
�$2 ( 121 ��4�-
������$� ������� 1 %

$�	�4 �+/����� 15 ���� ���$����	���� &
)���
�$���
����$
���2+
�	�%��&�
����$��#)��'�����	��������
��� ��$	��&��+
����
����&��'���
��
6�#�� �
'&��	��
��$�� 60 ���+
����
6�#�� �0)��+8��	������&����)�����6�#�� 

2. ����!%	���
�*��%	�
7
��#)������������+	
(2 ��
)����	��&
)�6�#�����%

*���
����$ 

���2+
�	�%��&�
����$��#)�� &�		�
7
��#)���+/� +������
9�����	��&��*��	���!%������"�� 

3. ����������'�!��7
��#)��'&����������+
���( 1 ��������
 *�		��!�� ��)��%

*���	
��
���������$�'�
����� ����&��	���	���*����'&��	��������2���������
	�$�

�&�
��.�������'�
���!�����.���������	�����	
�� ����������	)�%�
����%!�� 

4. %

*��������+	
(2�������	�
7
��#)����'���	
�� ���&
�%������������&��&
)���
����$%

*� 
'&����	�
���$-������3	���$ �0)��#
�$+
�%������� �����
�&�
��6�$'����6�$��	��� 

����+,�!����$'&���:��	5(2��	4
���!�� �������;��
�&�
��-�	�%���!��������� +,�#
��+�
�$ �
�������-� ��$+
�%'&�&��+�
�$ �����0�%�����$����&�3	 

5. ���!��7
��#)�� +�����������	;� �+,��	;� ����	����
���
���%������� 
�	
�������������"��!"� 

10 +���2�
���
������ *"�+�
�$��	�4��	��$+
�%'&�&��+�
�$ �����'&������"�����$����&�3	 

&�	 �
+�
�$��	�4	
��	�
7
��#)�� 
���%����������	;��.�� 1 %

$�	�4 *�����(&6��� �

!"� 121 ��4�������$� ��)���*�		;��'�!�� �
'#
 �����%
����<�=����&�� 

6. 
�*�	
�����
���%���������������*� �
�+���$��+������ *"�+,�#
��+�
�$��	�4 ����
����	����
���������� 	
�����������������$�
'���������$� *"��
���*�%����7
��#)�� 15 ���� 

�&�
������'&���$+
�%�����
�����+�� ����+�
�$*�	&���	;��0)��
�	5�
���%�������'&�
�$�
'���������$���������	�
7
��#)�� 

7. ��)���
%����7
��#)�� '&�+,��	;������ �������+8�$
����!��
��� ��������!�� 

8. 
�*�	
�����
���%�������������
��������&�)� 0 +���2�
���
������ *"����	�
�+,�-�!�� 

����+,�-��������$�
6�$'�!��'&���
�	
�������	*�	!��7
��#)�� 
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9. +�
�$'&������ ��+	
(2 &
)�6�#�����%

*���
����$&
)���&�
����$��#)������(&6�����
�	�%
��(&6���&���������� +�	3%
�	5�'����&
)�����#
��3���� ��(&6��� -20 ��4�������$�



������� # 

���	��& ���"��	�&� #	�)�� 

 

 

���	�
7
��#)����&�
����$��#)������ 3 #��� '�&����"��������������(&6��� 121 ��4�������$� 

������� 1 %

$�	�4 (15 +���2�
���
������) ��� 15 ���� 
 

1. Nutreint broth  

        ����$��)���	�� 3 	
�� �++��� 5 	
�� '�����	��������+
�%+
����
'&� �� 1 ���
 ���$
���+
�%+
����
 	
����� +7
��#)�� 

2. Yeast medium  

        ��
�$��&�
���&�
��
2%����$����$�������	����� 10 	
�� ����+
�%+
����
'&�
 �� 500 ��������
 ��
�$��&�
���&�
 ���
�*���$����$$���2�	�� 3 	
�� ����2�	�� 5 

	
�� ����++��� 5 	
�� '�����	���� +
�%+
����
'&� �� 500 ��������
  ��� +7
��#)�� 
�'&�
�&�
���&�
��
2%����� ���
�*�����(&6�����
�	�%��(&6���&�������*"�����&�
���&�

�������#���.��	��6�$'���6���+����#)�� 

3. Zymomonas media  

        ��
�$��&�
���&�
��
2%����$����$�������	����� 20 	
�� '�����	���� ����+
�%
+
����
'&� �� 500 ��������
 ��
�$��&�
���&�
 ���
�*���$����$$���2�	�� 10 	
�� 

����++��� 10 	
�� '�����	��������+
�%+
����
'&� �� 500 ��������
 ��� +7
��#)������*"�
����&�
���&�
�������#���.��	��6�$'���6���+����#)��  

        �%
���&�
����$��#)������ 3 #�����'��������$�	����#)������ 50 ��������
 ����� 10 

��������
 ���&
�%
���%	�
&��	 100 ��������
'�	�
����������� 3.4.2 &
)� 15 ��������
 

���&
�%
���%	�
&��	 150 ��������
 '�	�
	�
����������� 3.4.3 ��$'#�������+���
�#)��  *�	�����	3%
�	5� �������(&6��� -20 ��4�������$� 



������� $ 

���	��& ��"��#��"�������	$�	
��
���
�"��!��"��	�&� #	�)�� 

*&-�&��������
�� �!�"�#����
�� ��	./��"��#��"�����+!��0����	'��	�&� #"��	�)�� 

 

 

1. �"��#��"�������	$�	
��
���
�"��! E. coli  ��� Klebseilla sp. 

        ����$��)���	�� 18.75 	
�� ����++��� 31.25 	
�� '���
�	����� $�%�&��&
)�
��� $������+
�%+
����
'&� �� 250 ��������
 ���$��
�	����� $�%�&��&
)���� $��'�
���+
�%+
����
 

2. �"��#��"�������	$�	
��
���
�"��! C. utilis ��� S. cerevisiae 
        ����$$���2�	�� 75 	
�� ����2�	�� 125 	
�� ����++��� 125 	
�� '���
�	��
��� $�%�&��&
)���� $�� ����+
�%+
����
'&� �� 250 ��������
 ���$��
�	����� $�%�&��
&
)���� $��'����+
�%+
����
  

3. �"��#��"�������	$�	
��
���
�"��! Zymomonas mobilis 
        ����$$���2�	�� 62.5 	
�� ����++��� 62.5 	
�� '���
�	����� $�%�&��&
)���� $
������+
�%+
����
'&� �� 250 ��������
 ���$��
�	����� $�%�&��&
)���� $��'����
+
�%+
����
 

 

        ����&�
���&�
 ���
�*������������ 3 #��� +7
��#)�����$&����"������������ ��(&-

6��� 121 ��4�������$� ������� 1 %

$�	�4 (15 +���2�
���
������) ��� 15 ����



������� 1 

���	��& ���"��	�&� #	�)����������
�� �!�"�#����
�� �� 

����! 100, 150 ��� 1,500 ��������� �
�"��!���	'��	�&� #$����*�& + 
 

 

1. ���	��& ���"��	�&� #	�)���
�"��!���	'��	�&� #0�����! 100 ��������� �
�"��!���*���#���
*&- 3.4.2 

1.1 ��2&���	����"��#��"�������	$�	
��
�� 

        �����
�	����� $����������.
��	�
+
�%
���%�����+/�	
��
��'&����
���
�	�% 6.5 

+
����
 100 ��������
 '�
��'�����0������$��#)��������3	 &$� ��0
0���� 	���� 4 

&$� �0)��$�%$���	�
�	����� ��� +7
��#)�����$&����"��������������(&6��� 121 ��4�-
������$� ������� 1 %

$�	�4 ��� 15 ���� *�	������� +�	3%
�	5������(&6��� -20 

��4�������$� ��$*����������$���+
�%��(&6�����&�
����$��#)��'&���
�	�% 25.6 ��4�-
������$� 	
����� +'#���� 

1.2 ��2&	����"��#��"�������	$�	
��
��  

         �����
�	����� $����������.
��	�
+
�%
���%�����+/�	
��
��'&����
���
�	�% 6.5 

+
����
 94 ��������
 '�
��'�����0������$��#)��������3	 &$� ��0
0���� 	���� 4 

&$� �0)��$�%$���	�
�	����� ��� +7
��#)�����$&����"��������������(&6��� 121 ��4�-
������$� ������� 1 %

$�	�4 ��� 15 ���� '#�+,�+�+����#)��!
�$���&�
���&�

 ���
�*�����������7
��#)������+
����
 6 ��������
 '�
��'������
�	����� $���$
������+����#)�����6�0 >.1  *�	������� +�	3%
�	5� �������(&6��� -20 ��4�������$� 

��$*����������$���+
�%��(&6�����&�
����$��#)��'&���
�	�% 25.6 ��4�������$� 	
��
��� +'#���� 

2. ���	��& ���"��	�&� #	�)���
�"��!���	'��	�&� #����! 1,500 ��������� 0����*���#���*&- 3.4.3 

2.1  ���	��& ���"��	�&� #"��	�)��0�����! 150 ��������� 

        �����
�	����� $����������.
��	�
+
�%
���%�����+/�	
��
��'&����
���
�	�% 6.5 

+
����
 141 ��������
 '�
'�����0������$��#)��������3	 &$� ��0
0���� 	���� 4 

&$� �0)��$�%$���	�
�	����� ������� +7
��#)�����$&����"��������������(&6��� 121 ��4�-
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������$� ������� 1 %

$�	�4 ��� 15 ���� '#�+,�+�+����#)��!
�$���&�
���&�

 ���
�*�����������7
��#)������+
����
 9 ��������
 '�
��'������
�	����� $���$
������+����#)�����6�0 >.1 *�	������� +�	3%
�	5� �������(&6��� -20 ��4�������$� ��$
*����������$���+
�%��(&6�����&�
����$��#)��'&���
�	�% 25.6 ��4�������$� 	
��
��� +'#���� 

2.2  ���	��& ���"��	�&� #	�)������! 1,500 ���������  

        �����
�	����� $����������+
�%
���%�����+/�	
��
����
�	�% 6.5 +
����
 1,410 

��������
 '�
'�����0������$��#)������'&:
 &$� ��0
0���� 	���� 5 &$� ������� +
7
��#)�����$&����"��������������(&6��� 121 ��4�������$� ������� 1 %

$�	�4 ��� 15 

���� '#�	
�%�	���+����#)������ 100 ��������
 ����&�
���&�
 ���
�*��������
+
����
 90 ��������
 '�
��'������
�	����� $���$������+����#)�� *�	������� +�	3%

�	5� �������(&6��� -20 ��4�������$� ��$*����������$���+
�%��(&6�����&�
����$�
�#)��'&���
�	�% 25.6 ��4�������$� 	
����� +'#���� 

 

 

 

 
 

��' 1.1  	�
�����&�
���&�
 ���
�*����$������+����#)��



������� � 

����������	
��
������&���'�"�# 

 

 

1. ����������������&���&����&���$����� 15 ��������
���*������'#�'�	�
������#��6�0�&�� 

�%'&��&�����$����%�����(&6��� 105 ��4�������$� (Memmert, Model No. 400, Oxford, United 

Kingdom)  

2. +�
�$'&���(&6������&���&����&���$� ����(&6�����
�	�%��(&6���&���'��!�������#)�� *�	����
#�������&��	 ( �

��-�) 	��&��'&��+/�����&��	&����+�
� (mi) 

3. ��)���	3%����$
�������� ���&���&����&���$� ++?@�&����&���$�������
��
3� 5,000 
�%�
����� 
(2,822�g) ��� 15 ���� ���$��
)���&����&���$� (Nuve, Model No. NF200, Angara, Turkey) 

�����$	�	3%����&����� �� ��'�&���&����&���$���	&���  

4. ���	�
������	������2����$	 �� ��$��������	����'&�+
����
������$�+/� 10 ��������
 ��$
����$
��
)���.����
����$ (vortex mixer, LMS, Model VTX-3000L, Tokyo, Japan) *���	�����
	��&����+/���
������$'�����	���� ������� ++?@�&����&���$���	�
��� �$	����&������ + *�
 ����	������2�������� 

5. �����	������2������������ +�%��� 105 ��4�������$� ��� 48 #������ ( �

��-�)  
6. �	3%����$
������2����&���������+�
�$'&�����(&6�����
�	�%��(&6���&���'��!�������#)��  *�	 

������� +#�������&��	 	��&��'&��+/�����&��	&��� ( �

��-�) �����	������2�&�� (mf) 

7. �����(�����������������#��6�0�&�� (C) '�&�
�$	
���
����
*�	 

 C = ((mf – mi)/10) � 1000



������� � 

�����������������)���#*&-���� ����)-� 600 ����	��� 

 

1. �������$
����+?@�&����&���$�������
��
3� 5,000 
�%�
����� (2,822�g) ��� 15 ���� ���$��
)���
&����&���$� �����$	�	3%����&����� �� ��'�&���&����&���$���	&��� 

2. ���	�
������	������2����$	 �� ��$��������	����'&�+
����
������$�+/� 10 ��������
 ��$
����$
��
)���.����
����$ *���	�����	��&����+/���
������$'�����	���� ������� ++?@�&���
�&���$���	�
��� �$	����&������ + *� ����	������2�������� 

3. ��������	������ +'�&���&����&���$�*� ��+
����
����$
����
����� ��$
����$��
)���.����
 

����$*���	�����	��&����+/���
������$'�����	���� 

4. �������$
��+
����
 1 �������
 '�
��'������3����� 1.5 ��������
 ������� +����
�	�
���	�)�
����������$����)�� 600 �������
 ���$��
)�������
����	�)�����%% double - beam 

(PerkinElmer Instruments, Model No. Lambda 25 UV/VIS Spectrometer, Shelton, United 

States of America) 



������� 3 

���*
�0"����#	���+ &��+	�������-� 

 

 

1. +
�%+
����
����2���%

*�'�&���&����&���$����� 15 ��������
 '&� �� 1 ��������
  ���$
��
����$����
�%�����
2�����
���%�����+/�	
��
����
�	�% 6.00  

2. ���&���&����&���$�'���� 1 *�
���'� ���
�*��&��*����.��'�&���&����&���$��+���$�
�6�0�+/������3��$
������!"� *�	����*�
�&���'�������
������%�����(&6��� ����� 30 ��4�-
������$� 	
�����������3�'�&���&����&���$�����$&�� ���������� 1 ��� 2 *�����  3 
�% 

�0)��'&�.�������2�
�����  

3. ������	+?��	����������.
��4��$2	��� 0.55 ��������
  (Sigma, Cat. No. G8772) +
����

��
�	��	�%+
����
����2$���2 ��'�&���&����&���$� 

4. ���	�
%�����2���$��	+?��	����$'#���
)���.����
����$ (vortex mixer) ��� 1 ���� ����
*�
���'�����.��������3���	 1 ���� ������� 3 
�% �0)�����'&�.�������2�	��
�
���  

5. '#� Pasteur pipette �������&������&�)�'�
'�&���&����&���$����� 1.5 ��������
 

6. ���&��� +&����&���$��0)���$	�������&��'���� 13,400 rpm &
)� 12,100�g �+/����� 2 ���� 
��� +�	3%
�	5� ����� -20 ��4�������$� 



������� 4 

�����	����"+�.��&�*&-���� ������ ��%&  Bradford 

 

  	�
����
��&2������������+
������$��<��������
!��� ���
�$������
�����!�	������� �&���
���&
�%����$
��������+
����$�
'�
�+�����
����$ ��$
���%����������������&������+A�	�
�$�*�
�+���$��+�� +���
���%���������������+
��� �������'�
�&�
��	�
�	��+A�	�
�$��
�	�
���	�)�
������������ Coomassie® Brilliant Blue G-250 *��+���$�*�	��� 465 �������
 �+/� 595 ����
���
 ��)���	��	�
*�%���	�%�+
���'���
����$���� �+
���������?�	2#���&��
 �������+/��%������
�
����	��$�>0���$
��$��� ��
2*���� (arginine) *����+A�	�
�$� ���� ��
 �
�&������&
�%����$
�������
���2+
�	�%�+/�%�����
2��(��%����%�&
)���
���
��"�.�� �������$
��������+
�����������
����	������	�
� 3,000 – 5,000 ������ �#
� casein hydrolysate &
)� yeast hydrolysate �0
��*�

%	��	�
�+���$������ Coomassie Blue (Biorad, 2007) ������� Stockchecker (1990) $��������'&�
������
����$�����$� 1�
�	 ��2����������� 1 ����
2 
�&�
��	�
����
��&2�0)��'&��+
�������$�

'��$)����)�	.
������$��	�� �� �����
���%�������	�
��	��
�&�
���+
�����
��#��� ��$
��<�	�
����
��&2�������������
� +���     

1. �*)�*������$
��&
)���
����$���
9��+
����
 20  ���
���
 ��$+
�%+
����
������$
���$����	����'&� �� 100  ���
���
 

2. ��������$
������*)�*������+
����
 25  ���
���
 ��'������3� (cuvette) ���� 1.5 

��������
 �"��%

*���
����$ Coomassie Brilliant Blue® G-250  �*)�*�����$����	����'�
���
��
�� 1 : 4 ��$'#� Coomassie Brilliant Blue® G-250 +
����
 20 ��������
 ����
+
����
���$����	����'&� ��+
����
��
�	�% 100 ��������
 

3. '&���
���+A�	�
�$�*� �������������+/����� 5 ���� 
4. ��� +����
����	�)�����������$����)�� 595 �������
 ���������(������������+
���

���$��	�
*�	�����������
9��  ����$
�������������
9������'�6�0 :.1 
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y = 1.0883E+00x - 1.2874E-01
R2 = 9.7945E-01

0.00
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tr
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io
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��' 4.1 �������0��<2
�&�
���������������
����$���
9�� albumin bovine fraction V   

����������� 0.17 - 1.80 �����	
���
���������
 ����
�	�
���	�)�����������$����)�� 

595 �������
 



������� 5 

�����	����"+�����$�������*
�#��
�#	�����+�'��	���&���+!����	�� 

(pyruvate decarboxylase, PDC) �� 0�� Carboligase assay 

 

        ��	�&�)�*�		�
�*��&��
��
2%�� ���	 ��2��	*�	 0
�������� PDC $������
!�

�
+A�	�
�$��#)����
�0��<���
2%��
�&�
�� 0
��������%������ 1�2 �����$ ������ ������ +����
'�6�0 2.4 ��$�
��+
�	�%�������������������
����'���
����$��
2�% ��	�%�����
2(���

���%�����+/�	
��
����
�	�% 6.4 �����(&6��� 25 ��4�������$�) �������'���
�� B.1 

����# 5.1  �
��+
�	�%�������������������
����'���
����$��
2�% ��	�%�����
2 
���	��& ����	
��
�� (����������+) 
	
����
�	 200 

TPP 2 

MgSO4. 7H2O 20 

�����$� 0
���� 200 

�%������ 1�2 80 

������� 3,000 

 

��%&���	��& �������� ���+�!��	��!��	���+ 50 ��������� ����!����	./�������#	*����! 6.4  

1. ����$��
���������
�� B.2 ���$����	����'&� ��+
����
+
���( 35 ��������
 (�.)��
+
����
 �����&
�%	�
+
�%
���%�����+/�	
��
��)  

����# 5.2  +
���(��
�����
��C'���
����$��
2�% ��	�%�����
2 
���	��& .����2 (����) 

	
����
�	 (+
�4*�	����) 1.921  

TPP 0.046  

MgSO4. 7H2O 0.246  

�����$� 0
���� 1.100  

������� 6.904 	
�� � 896  ���
���
  

�%������ 1�2 0.425 	
�� � 415  ���
���
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2. +
�%
���%�����+/�	
��
��'&� �� 6.4 ���$��
����$�0������$� 1�
�	 ��2����
������� 10 ����
2 

3. +
�%+
����
������$'&��+/� 50 ��������
 �%
�+
����
 50  ���
���
 '�
&���&���
�&���$����� 1.5 ��������
 �	3%
�	5� ����� - 20 ��4�������$� 

 


�����������	����"+ 
1. ��������$
������2
��+
����
 50  ���
���
 ��'�&���&����&���$����� 1.5

��������
 �"��%

*���
2�% ��	�%�����
2��(&6��� 25 ��4�������$� +
����
 50 

 ���
���
  

2. .��'&�����	���� +�
�$'&���
���+A�	�
�$�	�� 20 ���� ��$��%�����(&6��� ����� 25 

��4�������$� 

3. ����	
� �
����
������	 (trichloroacetic acid) �����������
��$�� 100 (����
�
+
����
) &
)�	
�����,�
�	�����������  4.5 ����
2 +
����
 10  ���
���
 �0)��
&$��+A�	�
�$� 

4. ��� +&����&���$���� 14,300 
�%�
����� (19,000�g) ��� 2 ����  
5. �	3%�
������&�� +����
��&2����������� PAC ��$��
)��� HPLC �6������'#�

���&
�%������2 HPLC �0)������
��&2����������� PAC ���� ��'���
�� B.3 

 

����# 5.3  �����6������'#����&
�%������2 HPLC �0)������
��&2����������� PAC  

������2 Alltima TM C8 �������6�� 5  ���
���
 (Alltech) 

����$��������2 15 ��������
 

����.
��4��$2	���6�$'�������2 4.6 ��������
  

��
����$���0� ������ � �
�2�����������
��$�� 32 ���	
�������	
�����������
��$�� 0.5 '�����	���� 

��(&6��� ��(&6���&��� 

����$����)�����'#�'�	�
����
��&2 283 �������
 

+
����
����$
�� 5  ���
���
 

���
�	�
 &� 1.0 ��������
�
����� 
�������'#����&
�%	�
����
��&2  20 �����
� 1 ����$
�� 
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6. ���	�
�����(
���%	�*	

�	�
������������ ��2 PDC  ��*�	  

Vassay = +
����
������$�����
����$ (110  ���
���
) 

Vsam = +
����
�������$
�� (50  ���
���
) 

Passay = ����������� PAC ����	���"��*�	+A�	�
�$�&��� 20 ���� (���������
2 
&
)�  ���
����
���������
) 

t        =  �������'#�'�	�
���+A�	�
�$� 
Ecarboligase =  �
�	�*	

�	�
��������
2�% ��	������� ��2 PDC 

 =  (Vassay/Vsam) × Passay × (1/t) ����-1 
 = (110/50) × Passay Ucarboligase × (1/20) ����-1 

=   0.11 × Passay Ucarboligase ��������
-1 

 

    

 



������� 6 

�����	����"+����	
��
����
����������.����!���*�& + 
�� ��%&�����������7
�#	"��.����*%���'��# 

 

 

1. ��
�$���
����$	
�����,�
�	����������� 5 ���������
2 ��$.��	
�����,�
�	 (
��$�� 98) 

������� 18 ����
2 +
����
 278  ���
���
  ����+
�%+
����
�+/� 1 ���
 ���$����	���� ���
��
����$ +	��*���	;����	
��.
������%
� ��������
�0
�� 0.45  ���
���
 ��)���*�	
�	;����-�D��������*�*)�+����� +����������������$&�$'&���
)���������'&�.�	�
����
��&2
�������)��� �� 

2. '#�	
�������	�����������
��$�� 2 ��$+
����
 �+/���
����$���
9�����&
�%�*)�*��
����$
�� 10 ��
� ����	
������$
��.
������%
� ��������
�0
�� 0.45  ���
���
 

3. ����
��&2���������������������	����� �
�	��� ����
� 	
�������	 ���������� ���$
��
)�����
����	
��E����&��+
����<�6�0��� (high performance liquid chromatography, 

HPLC) *�	%
�5�� Agilent Technologies ���$ refractive index detector (RID) '#�������2 
Aminex® HPX - 87H Ion Exclusion �������6�� 9  ���
���
  +
����
����$
�� 20 

 ���
���
 '#����� 20 �������&
�%	�
����
��&2 1 ����$
�� ���
�	�
 &���
�	�% 0.75 ��������

�
����� ��%�����(&6����������%������2 ����� 37 ��4�������$� 

        ���� (����) �����
��
��#���*�+
�	A������
� +��� ����
� (5.75 – 6.14) 	����� (6.70 - 

7.10) �
�	��� (7.45 - 8.00) 	
�������	 (11.68 – 12.30)   ���������� (16.26-17.19) ���
���� ��'�6�0 A.1 	
����������������
9�������
��
��#������� �����6�0 A.2 - 6 
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acetic acid 11.57-12.19

Ethanol 
16.40-17.00

sucrose 5.75-6.14
Glucose 6.77-7.19

fructose 
7.45-8.00

 
 

��' 6.1 ��
����
�	
���������������
� 	����� �
�	��� 	
�������	 ���������� 

 

 

y = -4.6641E-21x3 - 1.9999E-14x2 + 5.8038E-06x
R2 = 1.0000E+00
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��' 6.2  ����������������������
9�������������
� 
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y = 2.5090E-20x3 - 1.8617E-13x2 + 3.2783E-06x
R2 = 9.9985E-01
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��' 6.3  ����������������������
9���������	����� 

 

y = 6.1256E-21x3 - 1.0112E-13x2 + 4.8206E-06x
R2 = 9.8811E-01
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��' 6.4  ����������������������
9����������
�	��� 
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y = 8.9234E-19x3 - 8.4706E-13x2 + 1.0430E-05x
R2 = 9.9998E-01
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��' 6.5  ����������������������
9��	
�������	 

 

y = 4.4131E-20x3 - 1.6676E-13x2 + 1.5247E-05x
R2 = 9.9950E-01
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��' 6.6  ����������������������
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������� 8 

�����	����"+����	
��
�� 

�7������&������+!���� (phenylacetylcarbinol, PAC)  

�� ��%&�����������7
�#	"��.����*%���'��# (HPLC) 

 

1. ��
�$���
����$���+
�	�%���$������ � �
�2�������
��$�� 32 (+
����
�
�+
����
) 

���	
�������	�������
��$�� 0.5 (+
����
�
�+
����
) ��$.�������� � �
�2 320 

��������
 ���	
�������	 5 ��������
 ����+
�%+
����
������$'&��+/� 1 ���
 ���$����	���� 

2. ����
��&2����������� PAC 	
��%�����	 ����%������ 1�2���$��
)�����
����	
��E
����&��+
����<�6�0��� *�	%
�5�� Agilent Technologies ���$ diode array detector 

(DAD) '#�������2 AltimaTM C8 �������6�� 5  ���
���
 �������$����)�� 283 ����
���
 +
����
����$
�� 5  ���
���
 '#����� 20 ���� ���&
�%	�
����
��&2 1 ����$
�� ���
�
	�
 &���
�	�% 1 ��������
�
����� ���	�
����
��&2�����(&6���&��� ��$ PAC 	
��%���
��	 ����%������ 1�2 *�+
�	A��� 5.27 -5.36, 6.60 – 6.75 ��� 9.5 – 9.75 ���� ��������% 

���6�0 9.1 

 

 

PAC
5.27�5.36

Benzoic�acid
6.60�� 6.75

Bezaldehyde
9.5�� 9.75

 
 

��' 8.1  ��
�����	
���� PAC 	
��%�����	 ����%������ 1�2 



������� 9 

���*���#�!��*����+���+	���-�0���!!
�#	"����#�����!!� ����� 

 

1. ���.��!����	
��
������&���'	.7 � 

���	�
�0������$�*�����
�$2 3 	
(� '�
���% 1,500 ��������
 '��6����������������	�
������	�4
�+/����� 12 #������ ��� 25.6 ��4�������$� ��
�$�����$�����
� +��� 
1. S. cerevisiae TISTR 5606 ���$��
�	����� $�%�&�� (5606D: ���� 1 ��� 5606D2: ���� 2) 

2. S. cerevisiae TISTR 5606 ���$��
�	����� $��  (5606F1: ���� 1 ��� 5606F2: ���� 2) 

3. S. cerevisiae TISTR 5020 ���$��
�	����� $�� (5020F1: ���� 1 ��� 5020F2: ���� 2) 

- ��������������#��6�0�&�����&
�%��
��	
(����
�����
� +��� 
1. 5606D1:   6.0  ± 0.08 	
���
����
 

2. 5606D2:   6.2  ± 0.01   	
���
����
 

3. 5606F1:   6.0  ± 0.17  	
���
����
 

4. 5606F2:   6.0  ± 0.02 	
���
����
 

5. 5020F1:    12.8  ± 0.58 	
���
����
 

6. 5020F2:    11.2  ± 0.12    	
���
����
 

- ������.��*�		�
&��	��� ��*�		�
�0������$���
��	
(���
+
����
 400 ��������
 (V1)  +
&����&���$����$��
)���&����&���$� Super T21 centrifuge ���$ Sorvall SL – 250T rotor ���
�����
3� 6,000 
�%�
����� (4,746�g) ��(&6��� 4 ��4�������$� �+/����� 15 ����  ���'&� ��
��	�����#��6�0�����+
����
������$ (VX) ������ 

1. 5606D1: 10.0   ��������
 

2. 5606D2: 11.0   ��������
 

3. 5606F1: 17.5    ��������
 

4. 5606F2: 15.0   ��������
 

5. 5020F1: 22.5   ��������
 

6. 5020F2: 22.5   ��������
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- ���	�
�����(+
����
������%�����
2����������� 1.2 ����
2 ���&
�%+
�%��������������
���#��6�0�+E$	'&���
�	�% 120 	
���
����
 

- �����(+
����
������$*�	���
 V2 = C1V1/C2 

C1 =  ��������������#��6�0�&���
������ (	
���
����
) 

C2 =  ��������������#��6�0�&��������$ (	
���
����
) 

V1 = +
����
�
��������
�	�% 400 ��������
 

V2 = +
����
������$ 

1. (6.0 ± 0.08 	
���
����
)(400 ��������
)/(120 	
���
����
)  = 20.0 ± 0.26  ��������
 

2. (6.2 ± 0.01 	
���
����
)(400 ��������
)/(120 	
���
����
)  = 20.6 ± 0.03  ��������
 

3. (6.0 ± 0.17 	
���
����
)(400 ��������
)/(120 	
���
����
)  = 20.0 ± 0.56 ��������
 

4. (6.0 ± 0.02 	
���
����
)(400 ��������
)/(120 	
���
����
)  = 20.0 ± 0.06 ��������
 

5. (12.8 ± 0.58 	
���
����
)(400 ��������
)/(120 	
���
����
) = 42.6 ± 1.93  ��������
 

6. (11.2 ± 0.12 	
���
����
)(400 ��������
)/(120 	
���
����
) = 37.3 ± 0.40  ��������
 

- �����������'#�������%�����
2�0����������&
�%���#��6�0��
��#��������� 
- *�	 V2 –VX = +
����
������%�����
2����������� 

1. 5606D1: 20.0 – 10.0  =  10.0   ��������
 

2. 5606D2: 20.6 – 11.0  =    9.6   ��������
 

3. 5606F1: 20.0 – 17.5  =   2.5   ��������
 

4. 5606F2: 20.0 – 15.0  =   5.0   ��������
 

5. 5020F1: 42.6 – 22.5  =  25.2     ��������
 

6. 5020F2: 37.3 – 22.5  =  14.8     ��������
 

�
�*��%	�
�����( 

-   *�	���
  C2 = C1V1/V2 

 1. (6.0 � 0.078 	
���
����
)(400 ��������
)/(20.0 ��������
) = 120 � 1.56 	
���
����
 

 2. (6.2 � 0.010 	
���
����
)(400 ��������
)/(20.6 ��������
) = 120 � 0.19 	
���
����
 

 3. (6.0 � 0.170 	
���
����
)(400 ��������
)/(20.0 ��������
) = 120 � 3.40 	
���
����
 

 4. (6.0 � 0.020 	
���
����
)(400 ��������
)/(20.0 ��������
) = 120 � 0.40 	
���
����
 

 5. (12.8 � 0.58 	
���
����
)(400 ��������
)/(42.6 ��������
) = 120 � 5.4 	
���
����

 6. (11.2 � 0.12 	
���
����
)(400 ��������
)/(37.3 ��������
) = 120 � 1.3 	
���
����
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- ���	�
�����(+
����
���#��6�0�+E$	'�&�
�$ ���
���
 �������������'���� %���
���2-
��
2��#�������'&������#��6�0�����������������$��
�	�% 12.24 ��� 24.48 	
���
����
 

- *�	���
  V2 = C1V1/C2 

C1 =  ��������������#��6�0�
������ (	
���
����
) 

C2 =  ��������������#��6�0'���� %���
���2��
2��#��� (	
���
����
) 

V1 = +
����
���#��6�0����������� (��������
) 

V2 = +
����
��
����$'���� %���
���2��
2��#�����
�	�% 10.652 ��������
 

- 	
(�+
����
������$��
�	�% 12.24 	
���
����
 

(V1 ��������
)(120 	
���
����
)/(10.652 ��������
)  =  12.24 	
���
����
 

V1 =  1.087 ��������
 

������������������#��6�0+
����
1,087  ���
���
 

�
�*��%	�
�����( 

*�	���
 C1V1/V2 = C2 

(120 	
���
����
)(1.087 ��������
)/(10.652 ��������
)  =  12.24 	
���
����
 

- 	
(�+
����
������$��
�	�% 24.48 	
���
����
 

(V1 ��������
)(120 	
���
����
)/(10.625 ��������
)     =   24.48 	
���
����
 

V1  =   2.173 ��������
 

������������������#��6�0+
����
 2,173  ���
���
 

�
�*��%	�
�����( 

*�	���
 C1V1/V2 = C2 

(120 	
���
����
)(2.173 ��������
)/(10.652 ��������
) = 24.48 	
���
����
 

2.   ���	��& �������� ���	��!��	���+����	
��
�� 1.2 �����+ .������ 150 ��������� 

- #����0������$� 1��
�*���������� 24.50 	
�� 

- ����$�����3����$����	����'&� ��+
����
 100 ��������
 �0)����
�$�+
�%
���%�����+/�	
��
�� 

- +
�%
���%�����+/�	
��
��'&� �� 6.0 ���$ ��
����$�0������$� 1��
�*�����������
������� 5 ����
2 �����
����$	
�����,�
�	����������� 7 ����
2  

- +
�%+
����
������$�����
����$'&� �� 150 ��������
 

�
�*��%	�
�����( 

*�	���
 (m)(1/MW)(1/V) = C 

m   =  ����0������$� 1��
�*������� (	
��) 
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MW =  �������	���0������$� 1��
�*���������
�	�% 136.09 ����
�	
�� 

 V   =  +
����
��
����$ (���
)  

(24.50 	
��)(1/136.09 ����
�	
��)(1/0.150 ���
-1) = 1.2 ����
2 
3.   ���	��& �������� 	!�����&�:�+����	
��
�� 1.75 �����+ 0����*����  

- #����%������ 1�2 0.93 	
�� ��'���� %���
���2��
2��#���#����� 1  +
�%+
����
���$��	��-
���'&� �� 5 ��������
 (������	�����+
���( 4.2 ��������
) 

- ��� +�	3%
�	5���� 4 ��4�������$� 

4. ���	��& �������� �*���&��'�����	���������&	�& �	:.����:	��� 

- #��� ������ 0�
������ (thiamine pyrophosphate, TPP) ��� 0.25 	
�� ������
����$
������%�����
2+
����
 2.5 ��������
  

- #�����	�����$��1+��� 1��
� (MgSO4.7H2O) ��� 0.135 	
�� ������
����$������%�����
2 
2.5 ��������
 

- .����
�������
��	��*� ��+
����
������$��
�	�% 5 ��������
 

 �
�*��%	�
�����( 

[TPP]    =  (0.250 	
��)(1/460 ����
�	
��)(1/5 ��������
-1)(1,000 ��������
/1 ���
)  

       =  0.108 ����
����
 

[Mg2+]  =  (0.135 	
��)(1/246.47 ����
�	
��)(1/5 ��������
-1)(1,000 ��������
/1 ���
)  

          =   0.110 ����
����
 

� 	
(���������������#��6�0 12.24 	
���
����
  

- �������#��6�0+
����
 1,087  ���
���
 ����>0��#���%�����
2 1,087/2 = 544  ���
���
 

- +
����
������$���#���%�����
2��
�	�%  5.326 ��������
 

- &�+
����
��
����$ TPP ��� MgSO4.7H2O �������'#�*�	 

+
����
��
����$ TPP ������� 

 (108 ���������
2 )(x ��������
)/(5.326 ��������
)   =  1       ���������
2 
                                         x   =   0.0494  ��������
 

 +
����
��
����$ MgSO4.7H2O ������� 

 (110 ���������
2)(x ��������
)/(5.326 ��������
)   =   1.02    ���������
2 
                                              x   =  0.0494  ��������
 

�����������������
����$������%�����
2��
�	�% 5.326 - 0.544 – 0.0494 = 4.7326 ��������
  

�
�*��%	�
�����(  
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(�+
����

����
�	�% 4.7326 + 0.544 + 0.0494 = 5.326 ��������
 

 [TPP] '�#���%�����
2  = (108 ���������
2)(49.4  ���
���
)/(5,326  ���
���
)  

            =  1.00 ���������
2 
 [Mg2+] '�#���%�����
2  =  (110 ���������
2)(49.4  ���
���
)/(5,326 ���
���
)  

     = 1.02 ���������
2 
� 	
(���������������#��6�0 24.48 	
���
����
  

- �������#��6�0+
����
 2,173  ���
���
 ����>0��#���%�����
2 2,173/2 = 1,087  ���
���
 

- '&�+
����
������$���#���%�����
2��
�	�% 5.326 ��������
 

- &�+
����
��
����$ TPP ��� MgSO4.7H2O �������'#�*�	 

+
����
��
����$ TPP ������� 

 (108 ���������
2)(x ��������
)/(5.326 ��������
) = 1 ���������
2 
                                                   x  =  0.0494 ��������
 

 +
����
��
����$ MgSO4.7H2O ������� 

  (110 ���������
2)(x ��������
)/(5.326 ��������
) = 1.02 ���������
2 
                                                   x  = 0.0494 ��������
 

�����������������
����$������%�����
2��
�	�% 5.326 – 1.087 – 0.0494 = 4.1896 ��������
  

 �
�*��%	�
�����( 

 	
(�+
����

����
�	�% 4.1896 + 1.087 + 0.0494 = 5.326 ��������
 

 [TPP] '�#���%�����
2  =  (108 ���������
2)(49.4  ���
���
)/(5,326  ���
���
)  

                                   =  1.00 ���������
2 
 [Mg2+] '�#���%�����
2  =  (110 ���������
2)(49.4  ���
���
)/(5,326  ���
���
)  

                                    =  1.02 ���������
2 
5.  ���	��& �������� �'��	��	
��
�� 300 ����������+ 
- +
����
������$���#���%�����
2��
�	�% 5.326 ��������
 

- �����(��������$� 0
���� (sodium pyruvate)  

- *�	���
  C1V1/V2 = C2 

C1 = ����������� 0
�����
������ (����
����
) 

C2 = ����������� 0
����������$ (����
����
) 

V1 = +
����
 0
�����
������ (��������
) 

V2 = +
����
 0
����������$ (��������
) 
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 (C1 ���/���
)(5/5.326) = 0.303 ����
2 
                                  C1 = 0.3228 ����
����
 

- *�	���
 m(1/MW)(1/V) = C 

m =  ��������$� 0
���� (	
��) 

MW =  �������	�������$� 0
���� (����
�	
��) 

V =  +
����
��
����$ ( ���
) 

C =  �������������
����$ (����
����
) 

(m 	
��)(1/110.04 ����
�	
��)(1/0.005 ���
-1)  =  0.3228 ����
����
 

                                                                    m  =  0.177  	
��  

- #��������$� 0
������� 0.177 	
�� '�
��� %���
���2��
2��#��� #����� 2 

- �	3%
�	5� ����� 4 ��4�������$� 

�
�*��%	�
�����( 

- ��
����$�����$� 0
����+
����
 5 ��������
 ���������������
�	�%  

     (0.177 	
��)(1/110.04 ����
�	
��)(1/0.005 ���
-1) = 0.3228 ����
����
  

-  +
����
������$���#���%�����
2��
�	�% 5.326 ��������
 *����������������������$� 0
�-
�����
�	�% (0.3228 ����
����
)(5/5.326) = 303 ���������
2 

6.  
���������*���# 

- ��
�$���� %���
���2��
2��#������� 30 ��������
 (����.
��4��$2	��� × ��� = 2.6 × 5.9 

��������
2) 2 #�� ���&
�%#�����
����
�$2 (#����� 1) ���#���%�����
2 (#����� 2) ��)�����	�
�����
'&�����
#���%�����
2��'���� %���
���2��
2��#������%

*���
#�������
�$2 �0)��+8�� 	��
�����������)�����)���*�	#�����
����
�$2���%������ 1�2 �����	�	�����.����
)����	���+/�
���2+
�	�%  

- ��
�$���
����$�%������ 1�2����������� 1.75 ����
2  '���	�����'�
��� %���
���2-
��
2��#��� #����� 1 �����	3%
�	5� ����� 4 ��4�������$� 

- ��
�$���
����$������� TPP ��� MgSO4.7H2O �	3%
�	5� ����� 4 ��4�������$� 

- #��������$� 0
������� 0.177 	
�� '�
'���� %���
���2��
2��#���#����� 2 �	3%
�	5� �����
��(&6��� 4 ��4�������$� 

- ��
�$����#��6�0�+E$	�������������� 120 	
���
����
 

- ������
����$ TPP ��� MgSO4.7H2O �����
����$������%�����
2�� +'���� %��-

�
���2��
2��#���#����� 2 �0)������$�����$� 0
���� 
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- *�	��������
����$'����#����������'���� %���
���2��
2��#���#����� 1 �����	�
����'�
���
���% 

- �������#��6�0�+E$	��'���� %���
���2��
2��#������%

*���
����$�������#���  ��$������
 +'�#���%�����
2 (#����
��) 

- ������ %���
���2��
2��#��� +�	�
�'���
)�����$
���������
3�
�% 250 
�%�
����� ��(&6��� 
6 - 8 ��4�������$� ��� 72 #������ 

- ���	�
&$��+A�	�
�$���$	�
*�
������'� ���
�*��&�� 

 

 

 
 

��' 9.1  ��������	
�%��	�
 %���
���2��
2��#���
�%%����&�����#����%%�$	#���
	
��	�
����� 

 

 

 
 

��' 9.2 ��������	
�%��	�
 %���
���2��
2��#���
�%%����&�����#����%%�$	#���&���
	�
�����
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